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GROUP-A / (F-*141)

1. For each question given below four answers are given. Out of four, only one answer
is correct. Select the correct answer. 1 x4=4

OeR 2AfSTo! awammﬁvmﬁ@wﬁnwmﬁmh—@w % TG | 9% Sedrs] 4l
feredr |

(i)  The time period of a simple pendulum is -5 seconds The number of oscillations
the pendulum would complete in 1 second is

<1 T (T A 0-5 (PG | IAFHE 1 (RPee T T (e A<t

@ 2
) 1
(¢). 0-5
d 0-2

(i) Which of the following statements about the given reaction is truc ?

zine RIGDR CFae o1 @ S 952
H,S+ClL, —2HCI+S

(@) Cl, is an reducing agent.

Cl, 9ol sz smid |

(b) H,S is an oxidising agent.

H,S @bl a5 2|

(c) Cl, has accepted electrons.

Cl, @ T=1g= gz TRl

(d) H,S is reduced to S.
H,S werwiEta Jeife 2|
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(iti) The class of coal with highest percentage of carbon is —

TR AR o] 7wl <9 TR a6 2 —

(a) Lignitc Coal
120 =

_(b) Anthracite

GG

(¢) Bituminous Coal
AR Fe

(d) Sub-bituminous coal
g- gl <z |

(1v) A person uses a corrective lens of power —1-5D. Ie is suffering from —
GG YRETT —1-5.D FACH boal A92R I | (947 feq ol 25 —

(a) Myopia

(b) Hypermetropia
ARG faal

(c) Prcsi)yopia
cerara

(d) Blindness

qreRier |

2. (a) Distinguish between transverse wave and longitudinal wave. -2

SI2RE TRl W S SRR G <iy e |

(b) The wavelength of a sound wave is 1 metre and frequency 4 x10° Hertz. How
much time will be needed by the wave to travel a distance of 2/m ? 2
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3. (a
b)

4 (a)
(b)

Blé;—GSc

B 7 TaoR SR 155 S T 4% 107 Ze| G SRABR 2o Ui
Sifoer SEHCE /i 7= wifaae

Or / 9991

The frequency of a sound wave is 250 Hertz and the distance between consecutive
rarefaction and compression is 2 metres. Find the velocity of the wave. 2
GBI ¥ GRS FHIT 250 /e | SRE S 2R SR AT NG Y 255171 4
GHRATGR (91 fefa |

An object is situated in-between the centre of curvature and the focus of a
concave mirror. Draw a ray diagram showing the formation of the image. 2

G TG VLA Sfea® SIF T e WEe bl o7FRE (A (3% | IEPad ADTe
AR afon (wyedl |

A concave mirror of focal length 15¢m forms a virtual image of an object. The
image is twice in size compared to the object. Find the distance of the object from -
the mirror. 2

15 (& T3 (10T SRS Wale QAT 5t g e 2fORT oo T | TREES
TEHe fSREOR S e | Aol #[ TTHIeios 13y [ 7=

Or / 9931

An object is placed 10cm in front of a convex lens of focal length 15¢m. Find
the location and magnification of the image. 2"

15 (&3 1% GEed Q3 TG (G 211 10 Eaee <6 o775 I8 (A (202 | afefima
SR i @ e w10

Explain why an underwater objcct appc:ars to be situated above iis actual
position. 2

ﬁﬁquaﬁwweﬁrwaﬁmm CR=Il 2, <Gt < |

A ray of light'is incident normally on the boundary of two transparent media. Will
the refraction occur ? Give reasons for your answer. 1
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5 .- fa)
(b)
©

B13-GSc

(AR <P VD1 0%, SRR FieeTe sweiid Sleifes targ | 2w ARaums e ¢
CONE ©EI AXTTF Tl e |

Define electric field intensity. Compare the motion of a positive charge and a
negative charge in an electric field. 2

wfes cra AR S o121 | TfeT (7 @ SR B e i sife
el 4 |

Three resistors of resistances 3£2, 4£2 and 52 are connected in series to a battery
and 1s found that a current of 14 flows through the circuit. The three resistors are
now rcplaced by a single resistor and then also the same current of 14 flows in
the circuit. What is the resistance of the single resistor ? 1

3Q, 402 9/ 50 1 TSHb GdE (=A% Feas |5l (FBIR1A F9T0 AL T4 (2T iE
TSN S 1 a7 R ez t2rz | Fofib! (@i #iia @iv o5 @iae T6anie
Zio 9 T G O FRee I8AeRe GrF AR [ge 14 amﬁwrwrmmk
@A @14 R 2

In the circuit given below four resistors R =50, R, =102, R, =302 and
R, =52 and a 12V battery are connected. Calculate (i) the total resistance in the
circuit, (i) the current in the circuit. 2+1=3

T TGOS GRS @S R, = 5Q, R, =102, R, =308, R, =5Q 9% &5t 12V

GOIR FRTAlel AT C20R | TGN (1) 5 Q@I AR (1) - Rgpe, 231z AR sttt 11
R,

Or / G931

Show how you would connect three resistors of resistances 642, so that the
combination has a resistance of 2£2. .3

TR 6Q @IS (R FRIS TR TG (@ 202 29, (e |
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6. (a)

(b)

7. (a)

(b)
B13-GSc

The specific resistance of a metal conductor is £. You are given another conductor

of the same metal which is twice the length of the first conductor. What is the e
resistivity of the second conductor ? 14

I 4Tg AR WA &l P, @are Argra s wisik oiem yed R =i aole
ARRIZ col @l etz | a8 ~RadieEs Sl @iy e

Who discovered the relation between electric current and magnetism ? Describe

the experiment which showed that the electricity and the magnetism are related
phenomena. 1+3=4

Ry w1 5oea Siens 4! F=A400! (PICT SRS SRt Re o g3y 1 ot
2 ST 2R O 2fowm a1 2[Hes! <ol |

Or / et

What is electromagnetic induction ? Describe the experiment to demonstrate the
phenomenon of electromagnetic induction. 1+3=4

R 7 it 57 Rige 590 S ~R{Gast e SReee <6t s o)
<l | | -

Distinguish between an electric motor and a generator. < 1

@feT Wa o WY Sesiwa Ay B |

What is a covalent bond ? Explain the formation of water molecule. 1+1=2

LG AH FIF Q@ICT2 N ST A5+ 0= <4 |

Explain with reasons : (any one)

e v 3| (R @I oby)

()  Ionic compounds are crystalline solids.

SFAE (@6 SR it o]

(ii) = MgCl, is highly soluble in water but completely insoluble in benzene.

MgCl, A1 Sfom @y e afiTe e smean |

[6]
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8. - (a)
@)
9. (a)
()
B13-GSc

A and B are two elements having valence electrons 6 and 7 respectively. Find out
the molecular formula of the compound formed by 4 and B. : 1

GET A SIF BT 4 6 % 7 O (TGS 305034 GG | A i B« 5767 F91 (@60
6T ATTS SeNedT |

What are oxyacids ? Mention the anions of the following acids : 1+1=2
SHaET SR Q@I ? were Ml RS ed aiRmeEE Sra 4
HNO, , H,CO,
Or / 991
Whaiz are bases ? Mention one property of bases with a chemical equation.

| 1+1=2
R I AT 2 TR BT 45 TR AN T

You are given two samples of pure water and-lemon juice in two test tubes. How
will you identify the lemon juice with the help of a suitable indicator ? 1

oI 2RPFIETS 9 7 TSI (S s Al i T <1 fal Q’Eflﬂw%ﬁ{@‘{w.
TS (FALT AR e fsar?

~What is a homologous series ? Explain with an example. Il=2

AT A T @I ? G5 TwrzRels (TS Wik %541 |

Or / Y41

What is a functional group ? Explain with an example. 1+1=2

R TEF I (@0 2 A5 SHIZIR CATS IRl <64 |

To which class does the following reaction belong ? Mention the structural features
necessary for the compound to exhibit such reaction. 1+1=2

frafiRe R @ @ARe @€ o R oREiEes 2 @eioE e
ey 4 R

C,H, + By, » C,H,Br,
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10. (a)

Define and explain the terms calcination and roasting with examples.  2+2=4

WA S OiAGRE A7 Yo el B I Swigacd AT i 4| .
Or / g4

Write the name and formula of an important ore of Zinc. Describe with diagram
the vertical retort process for extraction of Zinc from roasted ore. Write the
chernical equation involved. "143=4

T 61 wargjel W< ST S AT el | Sleife wiefag «ia g &S Aae
e frraa oaprg adfar 31 kT < Ao FReErn

Answer in bnef : (any nvo) ' 1x2=2
vy ©eq vat - (R cpiean won)

(i)  An ore used for metal extraction contains CaQ as gangue. Select a suitable
flux for its removal.

Ay FIEHTS e Bl ARRE CaO Afie S& Sivg| T Sifeq<e <0 «of
S Relier 2 |

(ii) What is the process used for concentration of sulphide ores ?

ReTFRG i< NG Amhe &2

- (ifj) What are the metals present in the alloy Bronze ?

(b)
11. (a)
B13-GSc

T 4y 9g© & & 41 =g ?

Answer any two of the following : L 1x2=2

o1 WA 7 ey 7619 ©@d 31 :

() Name the catalyst and promoter used in the manufacture of ammonia by

Haber’s Process.’

(IR AR GG 2 Seoivas 9L T SasE Wi |5l 7459 A6
f -

(if) What is anncaling of glass ?

369 T2 Arosiieed 52

(iij) Name the raw materials used for manufacture of Portland cement.

ALeTS BT TeAMTS IR T (51 ANANATZT 7 Tl |
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12.

(b) Name two natural fungicides. . 1

wol 2igfes (STRmmMEE [ forall |

What is meant by cracking of petroleum ? Name two petrochemicals. Iel=2

G T we-wge Wit {2 gor (A amRte a9 W E

Or / 9

What is the full form of LPG ? Write the name of its principal constituent. 1+1=2

LPG 7 =< AE! 762 3R 24 ARG st {7 |

GROUP-B / (4-*it4t)

For the questions given below four answers are provided of which only one is correct..

Select the comrect answer. 1x2=2

o ARIT 2 4 BIRGIE Bea Wl St | 5iFEtE fouse «Bitg ww Oed | ww Teo! iR
G

(i) Balanophorais a

(@A G

(a) total stém parasile
T e aaiE

(b) | partial stem parasite
wIRfEE e AaGifd

(c) total root parasite
Ei GRS EiE]

(d) partial root parasite

I 3T TG |

B13-GSc [9] Contd.



(i) The chemical substance that is produced during lightning is —

Rre@ oasiers fisfe Rt At 2w Ry za —

" (a) Nitric acid

wizfes afen
(b) Nitrous oxide
2GR TrEizT
(c) Nitric oxide
(d) Sulphuric acid
PEARFORF <A
14. Answer the following : 1%3=3
| oo 2earad e fr

(@) | Write the Phenotypic dihybrid ratio.
e @A S &l
(b) Write the name of two glands present in the skin of man.

(c) What do you mean by crossing over ?

Tbe TSI e [ ISl ?

15. (@) Name the disaccharide found inmilk. | 1
sINere 2! B-=dat e =t ol | '

2

(b) Write two priﬁcip&l functions of liver.
TG0 Hol 24 DI ferdll |

Or /9%

[§]

Write two significance of photosynthesis.
AT AL Yo wled ferf|

B13-GSc . [10]



16. Wrile any three diffcrences between aerobic and anacrobic respiration.

(S5

RIS I SRS %o G & (I Fofnt =iy o |

Or /9%t

Write how oxygen and carbondioxide gases are transported in human body. 3

TR (2w SRS S F14-B12 wiEize (9% & Wi “fRaize 22 fe

17. (a)
()
18. (a)
(b
19. (a)
)
B13-GSc

State onc harmful effect of transpiration. : ; 1

AT B! Sl BraEd |

What is lenticular transpiration ? _ 1
SR AT I (A2

Fill in the blanks : 1
2ifeT S1Z #=el 4l -

The blood vessels having extremely thin wall for exchange of materials are called

v fafeee A R TeIReN (@9 S #ee 29 CRIEET
(= |

12

Draw a labelled diagram of internal structure of heart of man.

TRE TMAER Sirereal sloas ol iz fba =i |

Which hormone controls apical dominance in plants ? 1
(PR 2T Siena S el fage a2

What is aulonomic nervous system ? Write the name of two parts of autonomic
nervous system. 1+1=2

e Iy R TR Ao i O A el
Or /G

Name the largest endocrine gland in human body. Write one important function of
the hormone produced by this gland. 1+1=2
AETTEe S EetE TleT SresEar afEroa w At | @B afyrE e ) 57 [ed 9ol
o A Tl '
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What are the main nitrogenous waste materials produced in the human body ?

SR (S % (2T S IRE Tewaer (Tbe AW T &2

(@) Why reduction division is essential during gamete formation ?

(b) State the function of interstitial cell stimulating hormone (ICSH) in man.

TR (728 TOIABOT CIF Sales 25 =1 P SUerd 3 |

Write how mutation causes variation in organisms.

Teoifaae B Giae siers fomem 16 w0 |

Write two reasons for conservation of natural resources.

2AFFEE oI AT YOI il e 5 |
Or /931

Why rain water harvesting is essential ?

el el IO T aATare ¢

Explain how embryology provides evidences in favour of evolution.

TR A (o RaEe ™ AATF ArF Med I <0 |

Or/ et

Discuss briefly the Lamarck’s theory from four important angles.

| (T TSRO BIfG gy e W Al e S| v |

B13-GSc [12]
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: same Answer Script.

T O 4T Teg aredE Iz TR

GROUP-A | (F-Iidt)

1. For each question given below four answers are given. Out of four, only one answer
is correct. Select the correct answer. 1x4=4
e 2fSUBT 29 TS BIRGITS Tea il =itz | 5IREH fooss «ir v Ted | we Serh! AR
et |
(i)  The time period of a simple pendulum is 0-5 seconds. The number of oscillations
the pendulum would complete in 1 second is
Bl FE (R AGESI 0.5 (B | (IEFOIE 1 (@pee 77 T4 (iema 7
(@ 2
®) 1
¢ 05
(d 0-2
B13-GSec . [13] Contd.



(i) Bauxite is a
;LG &'

(a) Silver ore

ereRT Tie

(b) Platinum ore

&= MERG

(¢) Aluminium orc

R A

@d C
o

_(iti) Which e following is a diseasc caused by Protein-Energy Malnutrition ?
- |
orkor

o x

(c) B
@
(d) Goitre
geG|
(iv) The speed of light is the maximum in —
(12T @9 FHifas —
(@) diamond
Bkl
(b) glass
<The
(c) water
oS
(d) vacuum
W .

B13-GSc [14]



2. (a)
()
©

3 (a)
(b)
(©)

4 @

B13-GSc

Define frequency of a wave. 1

TaRe] B RIS Fee |

What are ultrasound and infrasound ? Mention two uses of ultrasound in medical
science. ‘ 3

S O T R ([T ? BReReme o 7o 9= Sre |

The distance between two consccutive crests of a transverse wave is 1m. The
velocity of the wave is 10m/sec. Find the time-period of the wave. s 2

<51 S waoR T i AR Tew 7EE 17519 | SRABRE T 10 5/
FUE SARIMOA ROt Sferedr| ~

Write one use of a concave mirTor. _ . 1

OEE AT bl TREE Tl

Draw a neat labelled diagram showing the formation of an image of an object in
a plane mirror. 2

e MRS SiFe (2l <t TTREs 2R (reaiz @3 fAd bize <Pibe ke 1|

An object is placed at a distance of 10cm from a convex mirror of focal length
15¢m. Find the position, nature and magnification of the image. 3

15 (& TaE YEEd a¥n $ed WAl ARl 10 (2 Heqo 5T & 9 (I
| 2R wg, 23 wie Redy fefa =0

Or / 9931

An object is placed 10¢m in front of a convex lens of focal length 15¢m. Find
the location, nature and magnification of the image. 3

15 (o5 T e 2 S (RTREa Ad 10 (R AT <t 7 I (AR (U af =
RN, 2gfe i fada fed <=

Definc refractive index of a medium. - 1

Ty aferRdica AL Tl

[ 15] Contd.



()

5. (@
)
(f)
@
6. (a)
B13-GSc

For what phenomenon of light do mirages occur in desert ? Explain the formation
of mirage in hot desert. 1+3=4

(P4 CAFICHI 20T A erefie Taber 5% 22 2 S Ierelie 8| b o7
I -

(8]

State Coulomb’s law in electrostatics with its mathematical expression.
Fafavyoq geter aus! sifdfes em@ifEmg &)

Distinguish between the potential difference between two points and the potential
at a point in an electric field. 2

tafes R wol fae Red con sie <6l e fieg — |2 4B Tiers 9 A1
ferall)

Define electric field intensity. A charge of 5x107°C experiences a force of
2x107" NV at a point in an electric field. Calculate the magnitude of the intensity
at that point. ) 142=3

(Ao (g RS A 37T | 4 Rpe (e (RIe] <t Rrge 5% 107° gersasiama
o gt <t TR AT 2107 /780 / 2 e Rge el 2llaens e fefa < |

An electric lamp is connected to a 220} linc. The current through it 15 2-0.4.
What is the resistance of the filament of the lamp ? 2

BT (APIET @2 b1 220V F(2as =o(® FCAS 41 (20R | B e eaifzs e
AR 2-04 | GTATHR Sl g e 7

Who discovered the relation between electric current and magnetism ? Describe
the experiment which showed that the electricity and the magnetism are related
phenomena. 1+3=4

e i peeed AGs AT TR0 (FI SIREE e [y o pee 9e@
FAEH! 2Afes sat 2ARrFICe! 3¢ =49 |

Or / g4

What is electromagnetic induction ? Describe an activity which demonstrates the
phenomenon of electromagnetic induction. 1+3=4

Fgepadm s 2 Rygadm SiwEem AREGAIs! el <O PR 4l |
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(b)

1. (a)
(b)
(c)

- B13-GSc

What is the minimum amount of information needed to determine the direction
of the magnetic force on a moving charge ? 2

Wﬁ?ﬁﬁﬁﬁﬁﬁﬂ@%@ﬁﬂﬁ%@[ﬁﬂ?{@mmww@ﬂﬁﬁﬁ“tﬁ@
3 A ? :

Name a device which converls an clectrical signal to sound. 1

e AR XA AR © a1 g T Bl

‘What is a covalent bond ? Wrile two properties of covalent compounds. Give an
example of a molecule formed by triple bond. 1+2+1=4

TS AH T @2 ALIE (o T sl forat | RIS o1oA (R ol =
Tz | | , T |

Answer any one

fir R 51 TR

b9

(i) Choose the polar molecules from the following :
v RIS Adt & SR i S
CeH,, H,0, CCly, NH,

(ii) The formulae of somc ions are given below. Find out the formulae of the

compounds named below :

lons : Mg*", AP 0> N3

Compounds : Magnesium Nitride, Aluminium Oxide. 1+1=2
T TR SR TR il SR | TS A T IoPiTE FREPS SRS -
S Mg, A, 07 NT

At AT G, <R e

Give reasons why ' . 2
el we<fial 99

Sodium chloride is soluble n water ?

S FIRT AN TG ?

[17) Contd.



8. (a) What are metals ? Write briefly about any three chemical propertics of_metals.

@)

B13-GSc

4y FF QT2 4 Friea fHor ammafee wft R e

Or / 9957

1+3=4

What is concentration of ore ? Describe two processes of concentration of ore.

Wmﬁ@qﬁ?wmﬁmwiﬁr%aﬁwn

State true or false —

All ores are minerals but all mineral_s aré not ores.
] 7 STy Tred T — | '
FECE SR TN g T A4S ST =T |
Answer any four of the following -
werq f (..r 5IRGIT Ses Tl -
(i) Name a metal found in [free state in nature.
o il T v e
(ii) Write'fie name of one metalloid.
<51 ifgepsr =i fora |

(iif) Out of sodium anc netal is more reactive ?

?’WW‘Q‘WWH‘W@T@W@W@N?

(iv) What is produced when gangue'combines with flux ?

el e Wee Raiee =9l Q@iftre =, F Bl =3

(v)  Fill in the blanks :
el 92 279 T

Brass is an alloy of zinc and :
Feggafisees 9995 4|

[18]
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9. (a)

(b)

10, (@)

(B)

B13-GS5c

Write name and formula of 1%2=2

A % ATES o=l

(i) an aromatic hydrocarbon

ot T TG I
(ii) a paraffin
BT AR
Or / GRS

Write the names of

s ot
1) H-C=C-H
i [ |
Explain ‘why carbon exhibits tetra-covalency. 2
i = — IR T vAAEe! (IR
Or / S%11

What is a homologous series ? Write the name and general formula of a homologous
series. ' 1+1=2

Sl A FE TR ? BT AR (A I S AR AL e |

Write the chemical equation for manufacture of ammonia by Haber’s Process.
Mention one use of ammonia. 14+1=2

WW@W%&WWWWIWW@W@WWI
Or / 9T

Write the formula of bleaching powder. Write one of its uses. 1+1=2

iR #IfovRa T o | 3am B R feran|

Name the compound of sodium prepared by Solvay process. -~ 1

TS G 2ES 9 A Ao = o
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(c)  Fill in the blanks : . 1=

ATl 1R 779 3=
Fuming sulphuric acid is known as
YR Qe RS «iBuss @
I1. (a) What are vitamins ? How are they classified ? Give. examples. 1+2=3

TSR FIF @ ? 30T (@@ (@aRee o4 w37 evigsd fwal|
Or / 9T

What is food adulteration ? Write the names of two food adulterants. Mention the

foods for which they are used as adulterants. 142=3

YR (TG FIF (@2 [0 I (SEERS smidq i w2l & e
. RBRET (SEETRT =’ T2 T4 242

(b) What is Fluorosis ? 2
FTeg [

(c) What is iodised salt ? |
o femge =19 2 .

12. (@) Write two characteristics of a good fuel. 2
©fFT L Y1 CAre o
Or / 9931

Name two devices used to harness solar energy. 2
Gl Sigaer AT eigel 1 oI Fgfer w4 &t |

(b) Give reason why
a foul smelling gas is mixed with domestic LPG ? 1

—

19 el — Row w4l IS IREe LPGE 96t olege (ol ofer <t zme

B13-GSc [20]



